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5g	
  +	
  1g	
  analysis	
  

•  KL3pi0	
  Genera;on	
  

VertexZDiff
Entries  17268
Mean  5.437− 
RMS     68.11

Reco. - Gen. [mm]500− 400− 300− 200− 100− 0 100 200 300 400 500

#C
ou

nt
s

0

100

200

300

400

500

600

700 VertexZDiff
Entries  17268
Mean  5.437− 
RMS     68.11

Difference of Vertex Z

Reco. - Gen. [mm]500− 400− 300− 200− 100− 0 100 200 300 400 500

G
en

. V
er

te
x 

Z 
[m

m
]

2000

2500

3000

3500

4000

4500

5000

5500

0

2

4

6

8

10

12

14

16

GammaEDiff
Entries  17072
Mean  0.02145− 
RMS    0.1866

Gen.
Reco. - Gen.2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

#C
ou

nt
s

0

200

400

600

800

1000

1200

1400
GammaEDiff
Entries  17072
Mean  0.02145− 
RMS    0.1866

Difference of Incident Gamma Energy

Gen.
Reco. - Gen.2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

G
en

. I
nc

id
en

t G
am

m
a 

En
er

gy
 [M

eV
]

0

50

100

150

200

250

300

350

400

450

500

0

10

20

30

40

50

VertexXDiff
Entries  17268
Mean   0.1123
RMS     19.81

Reco. - Gen. [mm]200− 150− 100− 50− 0 50 100 150 200

#C
ou

nt
s

0

200

400

600

800

1000 VertexXDiff
Entries  17268
Mean   0.1123
RMS     19.81

Difference of Vertex X

Reco. - Gen. [mm]200− 150− 100− 50− 0 50 100 150 200

G
en

. V
er

te
x 

X 
[m

m
]

300−

200−

100−

0

100

200

300

0

10

20

30

40

50

60



Poin;ng	
  x	
  



Poin;ng	
  z	
  



Poin;ng	
  x	
  (No	
  Barrel	
  Hit)	
  



Barrel	
  Reco	
  

VertexR	
  

Blue	
  :	
  Good	
  event	
  
Red	
  :	
  Bad	
  event	
  



Barrel	
  Reco.	
  -­‐	
  Poin;ng	
  

Blue:	
  Data.	
  
Red	
  :	
  M.C.	
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KLpipipi0	
  M.C.	
  

•  Problem	
  :	
  Recycle	
  M.C.	
  can	
  not	
  reproduce	
  
original	
  M.C.	
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RearFlux	
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  FrontFlux	
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  Nerror	
  *	
  efficiency	
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  “Error”	
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